restart;

# Improved more Efficient Version
with(LinearAlgebra):
m:=5;
m:=5
A:=Matrix([[0,0]1,[1/3,1/3]1]);
0 0
A=y
3 3
b:=Vector([1/4,3/4]1);
1
4
b:=
3
_4_
c:=Vector([0,2/3]1);
o
c:=1 5
. 3_
n:=Dimension(b);
n:=2

onesvector:=Vector(n,1);

fxi:=Vector(n);

for j from 1 to n do
fxi[j]:=F(t+c[j1*h,xi[j]);

od;

xirhs:=y(t)*onesvector+h*Mul tiply(A, fxi);

1
onesvector:[ ]
1

[

fxil = f(t’ &1)
iy = f( + % h, azj



V(D)

Xirhs =
1 1 2
hl = L&)+ =fl t+ = h,
w(t) + [ 3 ft, &) + 3 f( + 3 izj ]

> Xilhs:=Vector(n,i->xi[i]):

for j from 1 to m-1

do
Xilhs:=subs(xi=xilhs,xirhs);
xilhs:=Map(x->series(x,h,j),xilhs);
xilhs:=Map(x->convert(x,polynom),xilhs);

od:
xilhs;
{ [y(t)],[ W+ = f(t WO) b+ [gnlmm W) + §D2<f)<t, W) it y(t))j h? o+ (% Dy 1(

£ (D) + % Dy oAt W) fit, (D) + % Dy 5Pt YD) fit, M)

+ % Dy (A6, y() Dy (AL, y(D) + % D, (AL M) fit y(t))j h3] ]

—$ R:=Vector(subs(xi=xilhs, fxi));

= { [, y(t))],[ { t+ % h, y(t) + % f(t, (1)) h

+ ( g D (N(, D) + S Do(N(E, Y0 i, y(t))j n®+ [ % Dy 1AL (D)

+ % Dy (Nt »(0) (L, () + % Dy (Nt YD) fit, 0 + % D, (A(t, (B) Dy(A(L, ¥(D)

+ 2 Dy M) A, y(t)] ]
27

> T:=y(t+h)-y(t)-h*Multiply(Transpose(b),R);

Ti= Wt+ h) - () - { i flt, (0) + %f{ (+ % hy (0 + %f(t, W) h

v ( % D (A, (D) + g Do(A(t, Y0) fit, y(t))j n®+ [ % Dy 1A (D)

+ % Dy (Nt »(0) (L, (D) + % Dy (Nt ¥(0) fit, O + % D, (A(t, (1) D(A(t, ¥(D)




+§%Dﬂmnﬂ0fﬂtﬂnqiﬁ]]

> S:=series(T,h,m);

=4mwm—ﬂawmwu(f%Dﬂmaﬂm—%ngawmﬂnﬂm+%DQ)

(YXD] h™ +

(—%DLﬁmtﬂm—%DLgmnﬂmﬂuﬂm—%D;ﬂNLWMﬂtﬂmz

i %Dzm(t’ Y(0) D1(H(t, WD) - 5 Dz Pt Y0)° L, (D) + % (3)(y)(t)J ne o+ ( 21_4 D(4)(y)

Y~ & 6 10) D, 506 Y(0) Dy(A(E ) = — Dt MO Dy(Plt, (D)

- é Dy, 5(At Y(0) Dot M0) fit, Y0)” - % Dy 1. 2(At YD) fit, ¥(0)

- 1L8 Do (N(t, )’(lL))3 ft, (1) - 5 D (Nt ¥(0) Da(A(E, ¥(0) f(t, ¥(0)

—%DLﬂmtﬂmDﬁMLﬂm—%Dngmnﬂmﬂtﬂmz

1 3 1 1
- — fit, ()" D (N, () - —D t, Y(0) - — Do(A(t, y(H) D t Y(t
> fit, y 2,2,2 N y > 1,1, 1N ¥(D) T >(N(t, V(D) 1, 1N M )))

_ W+ oh>)
> eq[1]:=D(t->y(t)) ()=F(t,y(t));
eq; := D(y)(0) = f(t, Y(1))

_} for j from 1 to m-2
do

eq[j+1]:=simplify(subs(seq(eq[i],i=1..j),DCunapply(eq[jl,t)) ()));
od;

edy = DP0)(0 = Dy 0) + DolPNE, Y0) fit, WD)

wy=DB%x0=D11mtyn+2Dlgﬁrw0ﬂtwm+Dngnﬂmﬂnwm2

+ Do(N(, Y(1) D1(H(L, (1) + Do(H(E, ¥(D) ° fit, y(0)

ey == DY) = Dy 1 (A 0) + 3Dy 1 KA MO) fit, YD)

+ 3Dy 5 oAt YO) fit M0)” + 3 Dy »(AL, YD) Dy(AL, (D)
+SDLgMLﬂmDﬂmnﬂmﬂnﬂm+fﬁywﬁD&&gmnﬂm

+ 3 fit, Y(0) Dy (A5, (0) DNt y(D) + 4 Dz >(N(E, V(1) Do(N(E, (D) ﬂt M)
+ Dy((6 1(0) Dy (AL ¥(0) + Dyt M0 Dy(AE, D) + Dyt Y1) AL, W0



> simplify(subs(seq(eq[il,i=1..m-1),S));

1 1 1 2
. D ’ —— D ) I —_— D ( (t! (t)) t, (t))
[ 16 L L 1N y(D) + — P, (N, V(D) fE, y(D) + = 1, 2, 2N (1) fit, y

+ % Dy 5(A(t (1) Dy(A(E, (D) - % Dy, (At () Dy(A(t, (0) ity (D)

; 2L16 i, M0)” Dy, 2, 2N MO) + % it () Dy, 2(N(6 1(0) Dy(A(E, 1(0)

- % Do(A(t, (1) Dy 1 (AL, YD) - % Do (A, n0)° D1 (H(t, ¥(D)

_ % Dy (A5, Y(D)° fit, y(t))) h* + o)



